
Chapter 4



 A company has no physical existence and cannot die a natural death. It is a

creation of law and its corporate life comes to an end by process of law

only. It can be wound up under the provisions of Companies Act.

Liquidation of a company suggests winding up the business of the company,

disposing off its assets, paying off all its liabilities and surplus, if any, being

returned to its shareholders. It must be made clear at the outset that

liquidation of company does not mean that the company is insolvent.

 Even financially sound and affluent company may be taken into liquidation.

Secondly, when a company is taken into liquidation, it does not always

mean that its business is closed down. It may be wound up for the purpose

of reconstruction and amalgamation too.



 A company is taken into liquidation for the following reasons:

 Due to insufficient capital, it may not be able to carry on business profitably

and may want to sell business to another company,

 When the period, if any, fixed for the duration of the company by the articles

has expired.

 When the objects for which the company was established have been fulfilled.

 When due to inefficient management or due to some other reason, the

financial position of the company has deteriorated to such an extent that it is

not possible to continue the business.

























 Solution:

Particulars Preferential Creditors Unsecured Creditors

(1) Municipal tax 700 (Year 2019) 350 (Year 2018)

(2) Unpaid Salary of two clerks 11,200 (₹ 1,400 × 4 months × 2) 22,400 (₹ 1,400 × 8 months × 2)

(3) Unpaid salary of clerk ---- 1,400 (Nov. 2018)

(4) Employees’ Provident Fund 4,000 ----

(5) Employees’Welfare Fund 3,000 ----

(6) Bills Payable ---- 4,000

(7) Unsecured Creditors ---- 34,000

Total 18,900 62,150





 Solution:

Particulars Preferential Creditors Unsecured Creditors

(1) Unsecured Liabilities ---- 50,000

(2) Municipal tax for last year 1,000 ----

(3) Sales-tax payable ---- 2,000

(4) Director’s Fees ---- 1,500

(5) Leave wage of employees 3,000 ----

(6) Amount payable for ESIC 1,000 (for previous year) 600 (for before P.Y.)

(7) Two clerk’s Salaries 20,000 (for last 3 months) ----

Total 25,000 54,100





 Solution:

Particulars Fully Secured Preferential Unsecured

Creditors Creditors Creditors

(a) Provident Fund of employees ---- 1,00,000 ----

(b) O/s Directors’ Fees ---- ---- 7,500

(c) O/s Salary of two clerks ---- 40,000 35,000

(4 months or 20,000 w.e.is less)

(d) O/s income tax before 2 years ---- ---- 65,000

(e) O/s wages of workers 25,000 ---- ----

(f) O/s salary of cashier ---- 20,000 40,000

(g) O/s municipal tax of last year ---- 5,000 ----

(h) Remaining amount of creditors ---- ---- 1,62,500

Total 25,000 1,65,000 3,10,000














